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Base facility of Subaru Telescope

I visited a remote control room at the base facility of the Subaru telescope. There is
same equipment of Subaru telescope on top of Mauna Kea. Here, information of the
summit wind, temperature, humidity, etc. are displayed in real time. On top of Mauna
Kea, simple mistakes tend to occur because the oxygen -

concentration in the air of the summit is only about 60% of the
For example, if there is a mistake in the input, the machine will
tell a mistake by the display and voice.
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There are three sections, astronomy, history of Hawaii and the
planetarium.
The planetarium explained history of universe and Hawaii.
That explained mythology of Hawaii, too.

<> Astronomy

The atom which was created the earliest in the universe is hydrogen.
And, they began to gather because of them own gravity.

Later, they began to burn as a star with nuclear fusion.

It cleated many heavier atoms, such as helium, iron and so on.
Many stars gathered and made many galaxies.

Many stars were born, died and spread heavier atoms.

Therefore, many later stars had planets.

For example, the Earth is made from oxygen, silicon, iron and so on.
Everything on the Earth is made from them.

That i1s to say, we are made by star.

However, we have not known all things about the universe.

So many scientists are studying many objects in many ways.

One of the principal spot is Mauna Kea, Hawaii.
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-My Opinion-
| knew that there is contradiction between the IPCC and the skepticism.
So, I thought what to do now. Actually, the most effective greenhouse effect gas is
vapor.
Now, because we can’t control it, we try to exclude COs..
Of course, although it is the fact that CO2 increased by the industrial revolution, CO2
have been decreasing since the Earth was born.
| think that in the workings of the Earth, we can’t say that the increase of the CO2 is
a problem. On the conftrary, it is worse that the evolution of human beings will be
slow.
So, | think we don’t have to do about the global warming and we only have to

evolve.
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After several billion years, the Milky Way will collide with the Andromeda Galaxy.
But all stars won't collide with each other, because the density of the galaxy is very
low.

Instead, both of them will transform by their gravity.
After the galaxies pass through each other, they will be pulled together by the
gravity and fuse.

After 8 billion years, the Sun will become a red giant star.

The radius will be 300 times as wide as what it is now.

Then Mercury, Venus and the Earth will be swallowed by the Sun.

The Earth will be torn to in pieces by the gravity of the Sun and melt by the heat of it.
Then, the Sun will gush out the gas and become a white dwarf.

A white dwarf doesn’t undergo nuclear fusion, so it shines by residual heat.

The gas of the Sun shines by giving off ultraviolet rays.

It is called a planetary nebula.

Consequently, after the death of the sun, it will leave the white dwarf and the gas.



